Instructions for “Slinky Measurements”

1.  To make the tools need to measure, you will need small slinky’s or springs, small paper cups, pipe cleaners, and meter sticks.  Connect cups to slinky with pipe cleaners and connect slinks (other end) to meter stick suspended between two chairs.  Tape sometimes helps!  Vertically behind the cup and slinky you want to place a meter stick to use to measure the amount the spring stretches.  Let the measure where bottom of cup is without candies be zero.  Each group will need @20-25 skittles.  

Slinky measurements with Skittles

Hooke’s Law – Is a law from physics that defines the relationship between mass (weight) and the stretch of a spring

This activity will help you visualize the relationship between mass and the stretch of a spring.  Each group will record the amount the slinky stretches with various amounts of skittles being placed into a cup attached to a slinky

1. Collect data

	Trials
	Number of candies
	Length of spring (cm)
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2. Write data as ordered pairs

Let the x-values be the number of candies and y-values be the length of spring
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3. Plot on graph paper- choose appropriate scales for the x and y axes
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4. Draw line through data and determine its equation

       Y = mx + b        
m is the slope   and b is the y-intercept

Equation is________________________________________

5. Use the graph to predict:

A. Length of spring if cup contained 5 ½  candies ____________  How do you know?_________________________________________________

B. If the length of the spring is 25 cm., how many candies would be in the cup?_________   How would you know?________________________

C. How long would the spring be if the cup contained 55 candies?___________________________________________________________________
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